ttH channel Best-fit u 95% CL upper limits on u = o/ ogy (my = 125.6 GeV)
Expected
Observed | Observed . Mefhfm Median | 68% CL range | 95% CL range
signal-injected

Yy +2.7128 7.4 5.7 A7 [3.1,7.6] [2.2,11.7]
bb +0.7113 4.1 5.0 3.5 [2.5, 5.0] [1.9, 6.7]
ThTh ~1.31%3 13.0 16.2 14.2 [9.5, 21.7] [6.9, 32.5]
41 47139 6.8 11.9 8.8 [5.7, 14.3] [4.0, 22.5]
31 +3.1724 7.5 5.0 4.1 [2.8, 6.3] [2.0, 9.5]
Same-sign2l | +5.37%1 9.0 3.6 3.4 [2.3, 5.0] [1.7,7.2]
Combined | +2.8719 45 2.7 1.7 [1.2,2.5] [0.9, 3.5]




